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PUNJAB EXAMINATION COMMISSION
EXAMINATION 2018, GRADE 8

MATHEMATICS PART - B (Subjective Type)
RUBRICS

Note: If students use any other correct method then they will be awarded full marks.

LSfeis Ay Sz pernndS B Sied

Q.No.33.(a) If A={1,2,3,4,5}, B={1,2,4,6,8} and C={1,2,6,7,8} then show that 5)
S S a7 C={1,2,6,7,8}.s B={1,2,4,6,8} A={1,2,3,4,5}./1
ANBNC)=(ANB)NC

BNC={1,2,6,8} 1 mark
ANBNC) = {1,2} 1 mark
ANB={1,2,4} 1 mark
(ANB) NC={1,2} 1 mark
ANBNC)=(ANB) NC 1 mark
(b) 1f U={1,2,3,4,5,6,7,8,9,10}, A={2,4,6,8} and B={2,3,5,7} then show that (5)

(AUB)® = A°NB°
(AUB)® = ASNB® Sy S etd B={2,3,5,7}.91 A={2,4,6,8}, U={1,2,3,4,5,6,7,8,9,10}./1

AuUB ={2,3,4,5,6,7,8} 1 mark
(AuB)°={1,9,10} 1 mark
A°={1,3,5, 7, 9,10} 0.5 mark
B¢ ={1,4, 6,8,9;10} 0.5 mark
A°NB° = {1,9,10} 1 mark
So, (AUB) = A*NB° T'mark

Q.No.34. (a) Salman got loan from a bank at a rate of 10% markup per year for some 5)
period. In how much period his loan of Rs. 20000 will become Rs. 240007?

23240000t end LS b d P S L Landy AT} 10% 8 200 20000 Gl

Sz b
Total amount . f= Rs. 24000
Principal amount .;_}*/= Rs. 20000
Markup s;lJ/JL: 24000 — 20000 = 4000 (1 mark)
Rate ¢ 7 = 10 %
Markup_i i
Time 4 = - - (1 mark)
Principal » J°1 xRatey /
4000x100
=— (2 mark)
20000x%x10
So, Time =.=2 Years J. (1 mark)
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(b) Hamid invested some amount in a business. He receives a profit of Rs. 28000 at the | (5)
rate of 7% per year for 2 years. Find his original investment.
U/ (P(/@ﬁbﬁu:/gu(_tj % &-2/28000-L, 20 T% U2l T LU MK Ay 2L ale
Profit C}af: Rs. 28000
Time=3s =T=2 years
Rate { /= R= 7%
Principal amount 5 1=p=2
p= Pr ofit Lmark
RxT
_ 28000x100 > marks
Tx2
=Rs. 200000 2 marks
Q.No.35.(a) Eliminate x from x + 1_ | and x* +i4 =m* “)
X X
B X x4+i4= m* sl x+£: I
X X
1 2
(x+—] =|? 0.5 mark
X
X2+ iz +2=1? 0.5 mark
X
X2+ iz =132 0.5 mark
X
1Y 2
(x%;j =(1>-2) 0.5 mark
X+ L 40=+4 -4l 0.5 mark
X
x*+ i4 = 1%-41-2 0.5 mark
X
m* = 1%-41-2 0.5 mark
m* - 1*=-41-2 0.5 mark
(b) If we add 4 to quarter of a number, we get the same result as we subtract 2 from (8)
the half of the number. Find the number.
(}"‘)ﬁ s S e L/&jZLUf&)TL)JiJ’(" iq/‘)’ lo.j?d'u:_d'_fbﬁuﬁétﬁ):&uu&jﬁfl
G
Suppose that required number s . S /(7 3= x 1mark
By given condition Je L A8
Xi4-%_» 2 mark
4 2
5_52_2_4 1Mark
4 2
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X—2X

24 1Mark
4
__X:_G 1Mark
4
X=6x4 1Mark
X = 24 1Mark

required number et 2= x = 24

Q.No.36. (a) Draw a square ABCD when the sum of the lengths of its diagonal and a 5)
side is 6¢cm.

- 6omss’ Ku;;’t,Jd' cl‘ L L1 B ABCDE

For drawing the correct line 0.5 mark

For drawing the correct angle of 90° 0.5mark

For drawing correct arcs 6x0.5 = 3marks

For drawing correct perpendicular 0.5mark

For correct labelling of square 0.5mark
0.5 ([ ses
0.5 & 4t alien 15K 90°

6x0.5=3 & LEE S eeny,

0.5/7‘; 45/»‘9;&/1)
0.5+ Ny

(b) The height-efa,conical tent is 6 metre and radius of its base is 8 metre. 5)

Find the area of the canvasmused tesmake this tent.
WS 5l v den e L L b e BN sl SIS LS  F

h=6m

r=8m

¢=\r"+h? = [(8)” +(6) =/64+36 =100 =10m 2 Marks
Curved surface area=zr/

22
=7><8><10 2 Marks
= 251.43m? 1 Mark
Q.No0.37 (a) Rabia purchased the following fruit. What is the average price of fruit (5)
per kilogram? S F b adue s s S Lstnd o
Fruit J& Quantity(in kg) | Price per kg (in Rs.)
(‘ﬂrl/}g)ﬂﬁf (uf.'ugu)rnf/daf

Mango (T 3 80
Grapes  FI 1 100
Orange ¢l 2 0
Peach .7 5 50
Apple e 2 90
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Fruit f X fxx
Mango T 3 80 240 0.5 mark
Grapes  .#i 1 100 100 0.5 mark
Orange ¢l 2 70 140 0.5 mark
Peach o7 5 50 250 0.5 mark
Apple  o» 2 90 180 0.5 mark
> =13 y x=910 | 0.5 mark
X= Z_ffx = % 1 mark
x =170 1 mark
(b) Construct a histogram of the following data. -uf&ﬁ”&%nrie;é ©)
Class boundaries »woFlzd> |5-10 10-15 | 15-20 | 20-25
Frequency 5 10 15 20 25
For drawing and correct labelling of X-Axis 0.5 mark
4L/ &Jum,%g X-Axis
For drawingyand correct labelling of Y-Axis 0.5 mark
(LS sl ZE R
For the construction“of'each correct bar of histogram 1 x4 =4 marks
Lt s 1K JE
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